9. AOICBWTHEMMITHA (—2, 0) Z@EY Wi vy=3x2 &HB (—1, 3) .
HCD2ETRbL>TWVWD, ELEBME yiEDZEEZD ETDHEE, ROBWICEZREW,
HEEEEK HI18)

(1) EHmoOXERD2 S, 9 ¥
Y=o

EHRmiZ24H8A (=2, 0) . B (=1, 3) %
WoTWEMNH, mOXE y=ax+bédTDE
0=—2a+b C
3=—a-+hb
INEES FETHRNC, a=3, b=6
A. y=3x1t6

(2) MCOEELZRD IR I,

B v =3 x LiEfm y=3x+6 OV 77O A y
P, SRR AR L, /0
3x’=3x+6
x*—x—2=0
(x+1) (x—2) =0
x=—1, 2 A. (2, 12)

(3) ABOCLABODODHEEZ i EHERBEE TR LRI,

B (=1, 3) . C (2,12 . D (0, 6) 72DOT,
ABOD=6X1+2=3
ANCOD=6X2+-2=6
ABOC=ABOD+ACOD=9

9:3=3:1 A. 3:1
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